/
Geometry (H) Name: —

;7 7
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kIn the diagram, HL and KT intersect at the midpoint of AL . Classify each statement as
true or false.

1. IM = MH Trind-

2. KM must equal MT EZ

3. MT bisects LH  -T
4. XT isabisectorof ZH |
A % 5. MT and TM are opposite rays P
6. MT and MK are opposite rays (r J
\’vy/;NL_‘H is the same as HL F N

8. KT isthesameas KM |
J 9. KT isthesameas KM | .

10. X7 is the same as K F

11. HM + ML = HL T

12. T™M + MH = TH =

13. Tis between H and M. F ‘

14. Mis between Kand T. T

15. Find the value of z. The find GE and EH and state whether E is the midpoint of GH .

%
a. GE=2z+2,GH=20,EH=2z-6 G E H
242222-0 GEz 0 /"—\
> Hz (O Ve s ez
g 5(%/ [~ _ﬁ%
! b. GH=z+6,EH =2z-4, GE = z GE= 5
- Z+2z-4=Z+0 EHZ(;>5W’Z”/
2z Yz 2406 GH =[]
AZ 2 [0
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}W& 5% 6.




16. Name the graph of the equation or the inequality.

e a—-—-——e\
a. -2sx<2 . 2 HN /

b. x<0 G H
<4 e G H M N Y Z
¢ K=t a1 >
-4 -2 0 2 6 8
d.fleO §Z
e. [x|=0 P{) M
Let J be between H and K. Use the segment addition postulate to solve for w. Find the
length of each segment. o ¢ o
H T K 1
17. HJ=2w + 5 18. HY = > w2 jﬁu Bt Z 25t 2
K=3w-7 SWt5+Iu-72/8 JK=3W+§' ZEu+ 3i= 50tz
KH = 18 54 =221 KH = 5w + 2 7+ Z =t s
ER A ]
== TN,
=0 D
d/eaéﬁf/

If B is between A and C, find the value of x and the measure of BC.

j C A C
19. AB = 24 24 3K 20. AB = X2 Xt 3K
BC = 3x . BC =3x
AC=7x-4 24 ¢3x= Ix-4 AC =10 |
28 4x x> 43X 10

o T 6(%‘;) (%/2')3@
C= R .
ck Ce2in K="5 @ e pge
A= A5 oIt o= bz
2 | peeo”

[+ 24~ 45/
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-~ 21. Draw a figure that satisfies all of the following conditions.
-’ e Points V,W,X,Y and Z are collinear

o VisbetweenY and Z

e XisnexttoV

e WY=YZ

e
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22. Points A, B and C are collinear. If AB = x, BC = 2x + 3, and AC = 3x -6, which pointi
between the other two points? Show all possible cases and explain your solution.

i SU—— 4——————&'—"‘“‘"‘5
- 3IX 4+ 32 3x —( 3x"e+ 2Xt3= X %1.,))(,6;29(«3
) 32 -6 Sx =32X ,. g ,| 2x=9
0 _ /éC“‘ i é Y»ﬁ
=2 @D |
X = 3 AB= 44
¥ be= 2oL =73

ég

é’?&%éf BC= 943212
23.Point B and C divide AD in the ratio of 8:5:34 AD 48 Find the length of each segment
and determine if B is the midpoint of AD. - Mé

e

FAtSut BNz 47 A oy B sx C 3
oy 47 CENCED
2¢ = /§f ?
5 B
24.AB = 10. The coordinate of Ais 3x — 6 and the coordinate of B is 5x + 2. Fmd all
possible values of B, 3y %qb;,\
,;’”’ &
346 - (54 £ D))= 10 ~2K ~8=(0 K~ 570
) 26— 5x+2[ =10 Xz 18 R
: (‘”2)('5)/3/0 X=-9 Az -3

Az -33 Bz
/(3/5‘0 %( ;—/IO

=33 =43 =






